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General Instructions :

Please read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are

compulsory.

(it)  Question paper is divided into FIVE Sections — Section A, B, C, D &

E.

(iti) In section A - Question number 1 to 12 are Multiple Choice (MCQ) type

Questions.

(tv)  In section B - Question number 13 to 18 are Short Answer (SA) type

questions carrying 2 marks each. Answer to these questions should not

exceed 50 words.

(v)  In section C - Question number 19 to 23 are Long Answer (LA) type

questions carrying 4 marks each. Answer to these questions should not

exceed 100 words each.

(vi)  In section D - Question number 24 to 26 are passage, cartoon and map-

based questions.

(vit) In section E - Question number 27 to 30 are also Long Answer type

questions carrying 6 marks each. Answer to these questions should not

exceed 170 words.

(viit) There is no overall choice in the question paper. However, an internal choice

has been prouvided in few questions. Only one of the choices in such

questions has to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.

59/5/3 I —1 Page 3 of 24

P.T.O.



[=] 5 =]

]

s
WS-k

1. frafafea fow wom = i e me fordt v 3w ue & wid
o e oWl ¥ R S adue i f srevaskdiet w1 aret did
ST AT o BT FHAT Feh fomT g0 el 2 |
(a) afRee Fre (b) fertren Tt ferehren
() febrs forsbre (d) TeromTera gt st TSt

2. Trafefaa gesti o1 SresraER safea Hif
() I TRIGL AT ! T % w9 H T
(i) TRIehG WA
(iii) =T 3 A
(iv) <. it 1 ayafy fFaifad g
gt ferepeu gfiu
(@) @, (1D, (i), @iv)
(b) @), Gii), Gv), @)
(0 (@ii), Gv), @), (i)
() @), Gv), @), @ii)

3. WA 3T % T o o) A Ffifted el 3 8 w1 @1 Heq a2 2 7
(2) R 3R T o s Toh ot o2 H o1 ST o AT 3R W HiH o g9 § T
fRmafr |
(b) WA, AT | 3T T AT o STt bl HISH HLAT 2 |
(©) M gt H Aieharf=reh IITEE JUed 2 |
(d) U HeF WA <h Aifer ST STTET HLAT 7 |
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SECTION - A

1. Fill in the following blank with an appropriate term from among the
following : 1
means the progress that meets the needs of the present

generation without compromising the need of future generation.

(a) Global commons (b) Development without destruction
(c) Sustainable development (d) Politics of developed nations
2. Arrange the following in the chronological order : 1

(1) Appointment of Lal Bahadur Shastri as Prime Minister.
(i1) Tashkent Agreement

(i1i) The fourth General Elections.

(iv) Election of V.V. Giri as the President of India.

Choose the correct option :

(@ @, 1), (i), Gv)

(b) (), (itd), @v), (@)

(0 (i), v), (), (i)

(d) @), Gv), @), (1)

3. Which one of the following statements about relations between India and
Nepal 1s NOT correct ? 1
(a) India and Nepal have a special treaty related to travel and work in
the other country without Visa.
(b) India shares the river water from Nepal.
(¢) Both countries have democratic form of government.

(d) Nepal always follows the policies of India.
59/5/3 I— 1 Page 5 of 24 P.T.O.
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4. TreaferRaa o & 1 w3 UY 96 51 UH TR E 7
(a) wBEHT (b) & Uiwe
OREECEREIRICE! ) Tava e e

5. SgUER wrafai g faehresfict gun § et s % g ST 6t ugeH i |
(a) SfeId ST ST HedTor HET |
(b) 319 Tufd SHT  3Tereh TATHT HHMT |
(c) 3T <M I A9 TZHT |
(d) forerasiier <M 1 TLhR ! forii TEm=daT e 4T |

6. T 3R HIHR ¥ Trag 318 370 h1 e qUTH foham T 2
(a) 26 Fad, 2019 () 15 37T, 2019
() 9 3m&, 2019 (d) 19 3, 2019

7. Trafafaa @ 9 forg faemmmcres gieet & i § ge@ %0 gaefs 9 ?
(a) T =1 fafsa ufes
(b) S =
(c) TIH ST THIhT 1 ISHaTe) Hige
(d) ifea T= 1 guTSETe) disd

fi= few e wed (8 W& 9) H, & T i ANEHRUT (A) 3T Rl (R) o &9 1 Fafga feman
TR | 39 AT 1 ufgu 3TR feu Tu foepeut # @ ol s g :

8. ARt (A) : 1990 o T & HAHTHD TIdal o SHIT JTeA shi TS Ifeieh TSt 3T

3TTH AT 311ereh Geft 3T IAerRt SIeH Jorreft 9med 9 |

=T (R) : TSI AT 61 TERIAT § FhT 9T U7 007 ST gU T TR 36 4uret §
AIhe o ToRR o1 Taaiferd fopa |

ICET

(@) (A) 3R (R) gHI T2 & 3R (R), (A) 1 T&l AR |

(b) (A) IR (R) T HE & g (R), (A) F ¥ AT 2 |

© (A)F&E, AfrT R) o |

(d) (A) @ 2, SAfehT (R) T8 2 |
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4.  Which one of the following is NOT an organ of the United Nations ? 1
(a) General Assembly (b) Security Council

(¢) International Court of Justice (d) World Health Organisation

5. Identify the main reason behind the investments of MNCs in developing
countries. 1
(a) For the welfare of the underprivileged people.
(b) To increase their own assets and earn profits.
(¢) For the benefit of other countries.
(d) To provide financial support to the developing countries.

6. When was Article 370 related to Jammu and Kashmir abolished ? 1
(a) 26 January, 2019 (b) 15 August, 2019
(¢) 9 August, 2019 (d) 19 August, 2019

7. Which among the following developmental model had least supporters in
India ? 1
(a) Mixed Model of Development
(b) Bombay Plan
(c) Capitalist Model of USA
(d) Socialist Model of USSR

In the questions (8 & 9) given below, there are two statements marked as
Assertion (A) and Reason (R). Read these statements and choose one
correct answer from the given options :

8. Assertion (A) : During constitutional monarchy in 1990s, the political
parties and the common people of Nepal wanted to have a
more open and responsive system of government.

Reason (R): The King with the help of the army retained full control
over the government and restricted the expansion of
democracy in Nepal. 1

Options :

(a) Both (A) and (R) are true and (R), is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

59/5/3 I— 1 Page 7 of 24 P.T.O.
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w0 (R)  : Sifeard g & fered & o1g 3 3 39 Hexh U & w6 o |
ferehea
(@) (A) 3R (R) i ¥E & R (R), (A) i ¥el =ren 2 |
(b) (A) 3R (R) THI w1 & W (R), (A) 1 Tt =Are T 2 |
© (A) @& g, dfepd (R) T & |
(d) (A)TTera B, wifehd (R) W& 2 |

10. Toefcriad d & w19 91 €31k WA | A& eiehdTi=ieh oTal’ <hl ek AT ?
(a) 1970 &1 @®Eh (b) 1980 =1 R®Mh

() 1990 F1EIH d) 2000 % EIH

11. frafefaa o & s TRTivE 1 Tk =T o7 ?
(a) <A (b) 3Tt STy faT
(c) ISl GRSl @) 3.3 varEErh

12, frfolea o & i a1 uh, Hifd s w1 e w2 ¢
(a) WA h ferema wfshar o foru worfifoes fifa wem = |
(b) TE TR & foru foreh 3 o &9 | &1 T |
(c) Torena ST o foTT o <t et T |

(d) ifd o €0 w1 gHHE ST |
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9. Assertion (A) : The United Nations is expected to cope better with the

Unipolar World.

Reason (R): After the disintegration of Soviet Union many new
countries joined the United Nations. 1

Options :

(a) Both (A) and (R) are true and (R), is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

10. The decade of “Third Democratic Upsurge’ in India was . 1
(a) 1970s (b) 1980s
(¢) 1990s (d) 2000s

11. Who among the following was a leader of Nagaland ? 1
(a) Laldenga (b) Angami Zapu Phizo
(¢) Kazi Dorji (d) E.V.Ramaswami

12. Which one of the following is not the objective of NITI Aayog ? 1

(a) To provide strategic input to the development process of India.
(b) To serve as a Think Tank of the Union government.
(¢) To arrange funds for the developmental programmes.

(d) To put an end to the tardy implementation of the policies.

59/5/3 I— 1 Page 9 of 24 P.T.O.
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thg TN g FISHT TN & €IF X Aifd 3R &1 739 1 & IS & hRu WY

i | 2x1=2
IR 3TR UTfhEdT o offe sl sl GoTd & fofu Shig < U™ sy | 2x1=2
T o SIS o 1< T8N < fohed] @l &1 o1 fargeryor Hifsa | 2x1=2

grd 3 H.A . (s e gfaeey afr) aur @ dL (R STyEr af®y) w
FEATR 1 21 fepT ? g g1 hur TE KT | 2x1=2

YT T TS o Tohegil gf Sh1l ohi SATEAT HITTT | 2x1=2

“gfeaor TfSren < Aiehda o ST T Arhad hl AT oAl i SRR 9T © |7 HUT hH
gfy i | 2

TE -1

“370e TR 3719 o foreeg Weh SH-JATGIe 9T |7 YU o U&7 H 13 <l 3Gt dIfvT 12 x 2 = 4

A § Y i 3T 1A H hEE € o T o feheal TR RN i TSI | 4 x 1 =4

T oh |11 ¢E} Fmerdi & foer § |eR qea shi SRt ST Yoo hifa | 4
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SECTION - B

Explain any two reasons for the formation of the NITI Aayog in place of
the Planning Commission by the Union Government. 2x1=2

Suggest any two measures to improve the relations between India and
Pakistan. 2x1=2

Analyse any two areas of cooperation between India and Israel. 2x1=2

Why did India not sign the nuclear treaties like NPT and CTBT ? Explain
any two reasons. 2x1=2

Explain any two functions of International Labour Organisation ILO). 2x1=2

“The South Asian experience of democracy has expanded the global

imagination of democracy.” Justify the statement. 2
SECTION - C

“The ‘Arab Spring’ was the people’s revolution against injustice.” Support

the statement with any two examples. 2x2=4

Explain any four reasons for the dominance of Congress party in the first

three general elections in India. 4x1=4

Evaluate Sardar Patel’s role in the integration of princely states with
Indian Union. 4

59/5/3 I— 1 Page 11 of 24 P.T.O.
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23. &< 91} o {7 o foheel & TehRIcHeh TWTE T eIy SHifu |

@ g -9

24. frfaRad w1 &1 oM & srema L 3R = for et & s o

@
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(a) HiferRra ge (b)  EIH TSI FHIH

©
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22. Highlight any four reasons for the Kashmir dispute between India and

Pakistan. 4x1=4

23. Analyse any two adverse effects of the construction of Mega dams. 2x2=4

SECTION-D

24. Study the given cartoon carefully and answer the questions that follow : 4 x 1 =4

ARES,

wrww €a0leCcanonns con

(1) The soldier shown in the cartoon belongs to which one of the
following countries ?
(a) USSR (b) USA
(¢) Iraq (d) Iran

59/5/3 I— 1 Page 13 of 24 P.T.O.
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(i) TorE o 3R TR “TTREH SUehT ThISH” o ShedTH & STTshu feka T o 7

(a) 1993 (b) 2000
(c) 2003 (d 2008

(iii) 1T H feme w3 § & FomfoRed § #1991 1 W@ FT R ?
(@) wH (b)  hlehEaT
(c) IfRETH @  3FEE

(iv) U™ @El Ig o frferfiaa # & forg v s Tm & St ST ST R 2
(a) WEAR (b)  HATReE fesism
() IR (d)  FATRIA Tegf shien

e : FafaRad wea wae givanter wlenfer & fog, T EET 24 F WM W 4x 1=4
(24.1) fFeAfafgada s ATy @i HI B ?

(@) (b) dTfeREIH
(c) MM (d) iR
(24.2)  Trmad A “TTIH SUH! ThIeH” o HeATd 8 3Uh T STTHAT g3 AT ?
(a) 1995 (b) 1999
(¢ 2003 @ 2007

(24.3)  WMD 1 forqa &9 fefm |
(a) duE ATk s fewgam
(b) S Tk W feegaem
(c) = T Hfeemm forgaem
(d) 99 3T Hiee fergm
(24.4) YA @I g &I Frafafaa 7 @ fha s am @ SIS R 7
(a) WRaR (b) SATRH fetsiam
(©) HFIH AR (d) AT TRt shieH
59/5/3 I —1 Page 14 of 24
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(1) In which year was Iraq attacked under the code name ‘Operation

Iraqi freedom’ ?

(a) 1993 () 2000
(c) 2003 (d) 2008
(111) Which one of the following countries shown on the cartoon is a ‘Gulf
country’ ?
(a) Iran (b) Kazakhstan
(¢) Pakistan (d) Oman
(iv) The First Gulf War is also known as .
(a) Smart War (b) Operation Liberation
(¢) Computer War (d)  Operation Enduring Freedom
Note: The following questions are for Visually Impaired
Candidates only in lieu of Q. No. 24 : 4x1=4
(24.1) Which one of the following is a Gulf country ?
(@) Iran (b) Pakistan
(¢c) Oman (d) Kazakhstan
(24.2) In which year was Iraq attacked under the code name
‘Operation Iraqi Freedom’ ?
(@) 1995 (b) 1999
(c) 2003 (d) 2007
(24.3) What is the full form of WMD ?
(a) Weapons of minimum destruction
(b) Weapons of mass destruction
(¢) Weapons of maximum destruction
(d) Weapons of most destruction
(24.4) The First Gulf War is known as -

59/5/3

(a) Smart War (b) Operation Liberation
(¢) Computer War (d) Operation Enduring Freedom

I— 1 Page 15 of 24 P.T.O.
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4x1=4

Teh ST 6 €9 H Jviehl g €9 8 Y18 § Fafd & | 3 yarg fafie whr & &
Thd ¢ | fova & U o @ g fe § 9 9t fomm, @ o1 @1 9 sifve e % o
ISt 1 T, e it ok S TEgA BT SATIR T SRt STfifereht i derer § g
fafira fedi o IR Y STETITEY | 28T Ted Hgwyul oT1d ® “Taveerdt ureafes e, st
TR yaTal i faar | 91 g g ST HEm ot B |

@

“Tarvaeamdt ureafies Jem’ o1 ffafad @ 4 Fn waT @ g ?

()
(b)
(c)
(d)

Iyefletr

EIAETU
TTSHERTT

Tsfiertor

(i) TR % W E -
Totifers, amTioes 3 smefars
TTTfSIeR, JTfe 3T wiimfers
Teriifern, 3Ties 3 atawefia
Tetifers, @mmTioms 3R 3Tiis

(i) freferfaa & & w snffes fafafet § gfg wwar g 2

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

USRI oh1 HH BT
el g 4 9y

e Ifvass i o

IR H 9 firee

(v) Fr=faRaa # &+ Svdiehtor &1 Uh q9a 7 7
T HI IR ARG gL R |

T TR Y R T E |
IR T I9 FIEqa g 2 |

T IR ! Seran fien € |
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25. Read the passage given below carefully and answer the questions that

follow : 4x1=4

Globalisation as a concept fundamentally deals with flows. These flows
could be of various kinds — ideas moving from one part of the world to
another, capital shunted between two or more places, commodities being
traded across borders and people moving in search of better livelihoods to
different parts of the world. The crucial element is the ‘worldwide
interconnectedness’ that is created and sustained as a consequence of
these constant flows.

(1) ‘Worldwide interconnectedness’ is also knownas
(a) Globalisation
(b) Liberalisation
(¢) Socialisation

(d) Privatisation

(1) Dimensions of globalisation are ______
(a) political, social and spiritual
(b) social, economic and geographical
(¢) political, economic and environmental

(d) political, social and economic

(i11) Which among the following increases economic activities ?
(a) Decline in employment
(b) Increase in the index of poverty
(¢) Strong global economic growth
(d) Great decline in the trade

(iv) Which one of the following is an impact of globalisation ?
(a) The power of the states has increased.
(b) New trade barriers have been imposed.
(¢) Choice of the customer has increased.

(d) It has given a boost to local industries.

59/5/3 I— 1 Page 17 of 24 P.T.O.
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26. YRA & feu v yerifas War-amfes O =R e /s o A, B, C d9m D gRI i =
2 | = € TTE ST % TR W 6k UgeH hifaTT 3T 379 IT-qfaeht o 39 Tl
T, AR 61 ITE BRI sl sHH TEAT T Hated 3181, fou e yew & 1gEr fafaw :
4x1=4

() a8 <w Sreeh 91y id 1 1962 | Ig 53 |

(ii) % & e T T <1 et & g W ferame § |

(iil) =€ SIS 1971 % g o =g e § 3T |

(v) o8 TRdT =" S = & F1er HHT ETe ST @ |

TE <Rl T8 AR <hl A TEAT et AR /T 1 A

(1)
(i)
(iii)
(iv)

N

SEA el

%ﬂ

) "
00 ‘\‘" ..‘.,'E: 7
A °
° :' ﬂ°
Map not to Scale
INDIAN OCEAN
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26. In the given political outline map of India, four countries/states have been

marked as A, B, C and D. Identify these on the basis of the information
given below and write their correct names in your answer book along with
their respective serial number of the information used and the concerned
alphabet as per format that follows : 4x1=4
(1) The country with which India fought a battle in 1962.
(1) The country with which India has a dispute on Kashmir.
(111) The country which came into existence after the 1971 war.

(iv) The Indian state which shares its border with China.

Sr. No. of the Concerned alphabet Name of the
information used in the map countries/states
@)
(11)
(1ii)
(iv)

POLITICAL MAP OF

INDIA

ARABIAN

SEA BENGAL

et

® Map not to Scale
INDIAN OCEAN
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e : fafaRad yer sae gyt wlenfeiat & fog, o7 v 26 F WM W E 4x1=4

(26.1) 39 < %1 A feafgn forees @1 yra 9 1962 1 Ig oS o7 |
(26.2)  FASIE % oIS B &) Topd 91 o WY WA 1 HIHI G2 T HEY &8 7
(26.3) V@ GIgieA™ & Hafera < w1 A fAfE |

(26.4) AT T hIM A1 WA T <14 o T 3791 T Tren Har 2 ?

WE-F

27. (a) U W= 3T TANT i TGTaT S B Ao (&) T ftrest o1 fazervo HifSw |

Frran
(b) “TFHIGET T BT I Teh U fH heg o €T H W@ 8 |7 HUF & 987 H s

6

o ek ST | 3x2=6

28. (a) 1975 T HINA SMUTdRTA sl YRATT TSI <hl Halferes faaTfed oreT = 9= Sirat

2 7 IS o HIUT ISR I | 3x2=6

A
(b) 1977 & TATE H I I & U & fore IR fohgl fiT Srent B SR

HIfT | 3x2=6

29. (a) WUSH TN <h! d FHHIE! fha TR ‘31 fuser ant’ 1 Toenati &1 gt & &1

Tk YA & ? fageivor Hifvy | 3x2=6

Freran
(b) YR ToHifa 0 ‘T fuser o’ & 3N & fau Ster el 9 wrenl &1

forgermor Hifsa | 3x2=6
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Note: The following questions are for Visually Impaired Candidates
only in lieu of Q. No. 26 : 4x1=4
(26.1) Name the country with which India fought a battle in 1962.
(26.2) With which country did India have conflict over Kashmir issue
since independence ?
(26.3) Name the country related to Sheikh Mujibur Rahman.
(26.4) Which Indian state in the North East shares its border with
China ?

SECTION - E

27. (a) Analyse the role of SAARC in promoting peace and cooperation in
Asia. 6
OR
(b) “The 21st century Japan is emerging as a new center of power.”

Support the statement with any three arguments. 3x2=6

28.. (@) Why i1s the emergency imposed in 1975 considered the most
controversial episode in Indian politics ? Highlight any three
reasons. 3x2=6

OR
(b) Highlight any three factors which were responsible for the downfall
of the Congress Party in the 1977 elections. 3x2=6

29. (a) How are the three recommendations of the Mandal Commission an

effort to solve the problems of the ‘Other Backward Classes’ (OBCs) ?

Analyse. 3x2=6
OR
(b) Analyse any three factors that led to the rise of ‘Other Backward
Classes’ (OBCs) in Indian Politics ? 3x2=6

59/5/3 I— 1 Page 21 of 24 P.T.O.
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30. (a) TN foTT Uh 3 Wk o & U HTshalle shi ST fohgi <l SeTavil <l Tgrdm &

T | 2x3=6
Frer
(b) TIH TY G g & ¥ Wil vd e gewi & faw ywarfaa fodl 9w
ATIEUST o1 T HIT | 4%x1%=6
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Explain terrorism as a new source of threat to the security with the
help of any two examples. 2x3=6
OR

Explain any four criteria proposed for new permanent and non-

permanent members of the UN Security Council. 4x1%=6
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